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ii]m] 31 84 44 40
FEE 42 817 44 A3|[HL %R 242 551 273 218
— g 12 173 86 87|—-=8 102 209 107 102
Ti& 67 144 81 63 3R 19 35 19 16
AE 61 171 88 83(|tL#L 32 66 31 35
P8 33 83 39 A4(|%E)1 19 37 19 18
L 18 43 17 26
BAF 2] 44 22 22078 & 107 212 113 99
LHEA 353 181 399 388|[m 20 31 66 35 31
AR 16 29 16 13
E2n 18 33 15 18|+ 23 53 29 24
AL 62 137 12 65| AR LLR 18 33 18 15
AFR 31 67 36 31|&FL 19 31 15 16
WmESH 14 34 19 15
ITES2 24 50 26 24| B R 130 256 125 131
&8 36 91 47 44
TR 11 32 18 14|[FE P EF iz 68 137 68 69
A 18 21 13 14|=H i 62 119 57 62
& 3 3 2 1
BER 20 51 2] 24 iR 28 39 14 25
e AT 18 42 23 19
Lif 98 220 101 19|+ &= 28 39 14 25




BT 4 | #H&EH | A0 3 £ BT 4 | &% | A0 ] s
5 i it 3 2,305 5, 704 2,795 2,909
5 i 2,305 5, 704 2,795 2,909
EiRETHER 100 270 135 135
5 iRETILR 49 110 49 61
S iRET 5 4R 1,120 2,642 1,289 1,353
5iREIE SR 384 1,026 517 509
5iRETA SR 160 431 206 225
5 iR BT & 26 66 30 36
EiRETE A 18 45 24 21
S iRETHH 11 34 14 20
5 iR BTRE b 26 67 31 36
BiRETSiE 30 83 39 44
5 iR BT 5B 26 77 38 39
5 iRETE R 44 119 58 61
5 iRETIA 2 106 270 141 129
5 iRETIE 3 92 224 107 117
5iRATIE 4 34 50 24 26
SiRETIHLL 1 79 190 93 97

I 3thigg 1,448 3,669 1,775 1,894 EETERERSRMEEAIAQ - HEK

nnRA 1,448 3, 669 1,775 1, 894

ERET£4 | 110,812 253,378| 124,272| 129,106
o 110 213 135 138
s 101 275 139 136|[ i iz 82,858 184,171| 90,269( 93,902
=)o 374 914 432 482||Hh 2z St 3,855 10,371 5,135 5,236
7)o 456 1,116 519 5977 |tk i Hhigh 4,795 12,579 6,112 6,467
No475 129 369 189 180||= Stz 2,454 6,175 3,040| 3,135
NOREE 45 121 60 61|l Eithis 355 107 356 351
o 84 215 105 110]|/ME Ha 15k 1,785 4,065 1,987 2,078
naxEs 11 25 13 12|#0 &tttk 1,291 3,391 1,654 1,737
JIAKR 24 40 2] 13||F Atk 3,164 1,899 3,891| 4,008
NnaiE 2 5 3 2|45 iz 6,502 14,647 7,258 1,389
[l[=)::EJIN 112 316 153 1635t tthisk 2,305 5,704 2,795 2,909

I[l[=E::3c] 1,448 3,669 1,775 1,894




